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TF Torques

Shot: 3181, Param. Tree 72

IDL: Max= 6.72043, Min=-2.36213e-06

TF SS and OoPM, Top_Torsional_Sheer_Stress (normal, circular)
DCPS: Max= 6.7204281, Min= -2.3621334e-06
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0 TF Torques
Shot: 3181, Param. Tree 72

-10 E_IDL Max= 6.72143, Min= -2.55841e-06

g TF SS and OoPM, Top_Torsional_Sheer_Stress (post. dis., circ.)

- DCPS: Max= 6.7214290, Min= -2.5584112e-06
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TF Torques

Shot: 3181, Param. Tree 72

IDL: Max= 6.72155, Min=-2.58225e-06

TF SS and OoPM, Top_Torsional_Sheer_Stress (post. dis., shaped.)
DCPS: Max= 6.7215506, Min= -2.5822471e-06
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TF Torques

Shot: 3181, Param. Tree 72

IDL: Max=0.000142029, Min=-0.0151965

TF SS and OoPM, Mid_Torsional_Sheer_Stress (normal, circular)
DCPS: Max= 0.00014202902, Min=-0.015196518
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E_IDL: Max= 7.13492e-05, Min=-0.0142713

g TF SS and OoPM, Mid_Torsional_Sheer_Stress (post. dis., circ.)
E DCPS: Max= 7.1349188e-05, Min=-0.014271281
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TF Torques

Shot: 3181, Param. Tree 72

IDL: Max= 5.44476e-05, Min=-0.0142481

TF SS and OoPM, Mid_Torsional_Sheer_Stress (post. dis., shaped.)
DCPS: Max= 5.4447210e-05, Min=-0.014248095

IIIIIIIIIIIIIIIIIIIII IIIIIIIIIIIIIIIIIIIII




20

10

-10

20

10

-10

20

10

-10

T

TF Torques

Shot: 3181, Param. Tree 72

IDL: Max= 4.70417e-05, Min=-0.104437

TF SS and OoPM, Bot_Torsional_Sheer_Stress (normal, circular)
DCPS: Max= 4.7041722e-05, Min=-0.10443725
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E TF Torques 3
E Shot: 3181, Param. Tree 72 g
- IDL: Max= 5.05827e-05, Min= -0.104496 3
= TF SS and OoPM, Bot_Torsional_Sheer_Stress (post. dis., circ.) 3
= DCPS: Max= 5.0582699e-05, Min= -0.10449568 =
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time
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E TF Torques 3
= Shot: 3181, Param. Tree 72 3
- IDL: Max= 5.56571e-05, Min= -0.104579 3
= TF SS and OoPM, Bot_Torsional_Sheer_Stress (post. dis., shaped.) =
E DCPS: Max= 5.5657128e-05, Min= -0.10457942 E
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Fa Starts 076532424

Fault Ends: 0.86587275\ /-

TF Torques
Shot: 3181, Param. Tree 72
IDL: Max= 0.0665384, Min= 4778.
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TF SS and OoPM, al_OL_OoPM (normial,/circular)
DCPS: Max=10.066538365, Min=-364778.3
14,
" 1 1 1 1 1
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Fa Starts -0.76532424

Fault Ends: 0.86587275\ /-

TF Torques
Shot: 3181, Param. Tree 72
IDL: Max= 0.0665383, Min= 4778.
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TF SS and OoPM, al_OL_OoPM (post.\dis., circ.)
DCPS: Max=0.066538338, Min=-364778.3
15,
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Fa Starts -0.76532424

Fault Ends: 0.86587275\ /-

TF Torques

Shot: 3181, Param. Tree 72

IDL: Max= 0.0665384, Min=-364778.

TF SS and OoPM, al_OL_OoPM (post.\dis., shaped.)
DCPS: Max=10.066538365, Min=-364778.3
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4210° - 3
310°F- =
2:10° - 3
E TF Torques 3
1.10° E_Shot: 3181, Param. Tree 72 3
E IDL: Max= 86591.9, Min= -8.05470 3
OE TF SS and OoPM, Half _OoPM (normal, circular) §
E DCPS: Max= 86591.886, Min= -8.0546969 3
= 145 E
0 = == = = T = = e = = - = = 5 — 5 = C . L -
-4 -2 0 2 4 6

time
- T T T T T T 3
A410°E- =
310°F- =
2:10° - E
E TF Torques 3
1010° E Shot: 3181, Param. Tree 72 3
E IDL: Max= 86269.8, Min= -3.40956 3
0 E TF SS and OoPM, Half_OoPM (post. dis., circ.) 3
= DCPS: Max= 86269.813, Min= -3.4095639 3
= 15.5 3
0 = == = = T = = e = = - = = 5 — 5 = C . L -
-4 -2 0 2 4 6

time
- T T T T T T 3
A10°E =
3410°E- E
2:10° - 3
E TF Torques 3
1.10° E_Shot: 3181, Param. Tree 72 3
E IDL: Max= 86248.9, Min= -3.12340 3
OE TF SS and OoPM, Half_OoPM (post. dis., shaped.) 3
= DCPS: Max= 86248.910, Min= -3.1233984 3
E 165 E
0 = == = = T = = e = = - = = 5 — 5 = C . L -
-4 -2 0 2 4 6



4010°

3¢10°

2010°

1.10°

-1410°

4010°

3¢10°

2010°

1.10°

-1410°

4010°

3108

2010°

1.10°

-1410°

TTT

= TF Torques =
—_Shot: 3181, Param. Tree 72 =
E IDL: Max= 7.24557, Min= -48747.4 i
E TF SS and OoPM, Lower Outer_ OpPM (normal, circular) §
E DCPS: Max= 7.2455667, Min= -48747.416 =
= 14.6 e
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time
- T T T T T =
E TF Torques E
= Shot: 3181, Param. Tree 72 =
E IDL: Max=9.92096, Min=-48979.7 i
= TF SS and OoPM, Lower Outer OpPM (post. dis., circ.) E
E DCPS: Max= 9.9209598, Min= -48979.641 3
E 156 e
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E TF Torques E
—_Shot: 3181, Param. Tree 72 =
E IDL: Max=9.10401, Min= -48912.4 i
= TF SS and OoPM, Lower Outer OpPM (post. dis., shaped.) E
= DCPS: Max= 9.1040114, Min= -48912.437 =
= 16.6 e
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-110°

Shot: 3181, Param. Tree 72
IDL: Max= 0.336810, Min=-237901.
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24108 = TF Torques

-3¢10° .
TF SS and OoPM, Upper_Outer_OpPM (normal, circular)
DCPS: Max= 0.33680975, Min=-237901.00
Bel0PE4a7 — — — — — - =
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-110°

Shot: 3181, Param. Tree 72
IDL: Max= 0.542244, Min= -238048.
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24108 E_TF Torques

-3+10° o
TF SS and OoPM, Upper_Outer_OpPM (post. dis., circ.)
DCPS: Max= 0.54224389, Min=-238047.73
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= Shot: 3181, Param. Tree 72 3
2 1065 IDL: Max= 0.458767, Min= -238023. =
i = TF SS and OoPM, Upper_Outer_OpPM (post. dis., shaped.) 3
E DCPS: Max= 0.45876719, Min= -238022.82 3
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